Math 21 S‘Drinﬂ 2009 Exam 2 3solutdons

1¢a). [ werksheet #8: 71 k=>2

(b). L Werksheet #7: 4] No

@), V{o) <o since VID) & a clcu-easirﬁ frenction
(d). False

@) [ Hewmcwerk $4.2: 2{(a)] True
2. [ Cempare with werksheet #6 : 3]
2xy?+ xt 2y gL v 332%137 =0

ol . ol .
At (4. 1) 2+2-3‘*;L(+3-:;—75L-—:0 = 'ﬁc’t‘é = tangent Line at

. z ,
(LD © J—fz“'f(%ﬂ[

3. [Comp&ri’ wth Hemewerk §4? 60]
Vi) = sintt)—ces(£) + C | 3= V(O)= % ()= Cceso)+ C = 0~{+C
= (=4 = Vit)s sin#)- cos(td> +4

St)==cedt) - sin(ty+ 4+ +D {= S(e)=-cerlo)—sin(o) + 4 (o )+ D=-1+D

= D=2 = [5(1:): _Caa'@t)~53n(1&)+4=t+3j

4 [c-,emparg with Hemecwerk $4.4 : 52]
4
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T. [Homewerk and @u;& §4.7: {é(‘a)]

A 7(=Jenjdt, g=cwidth , A=arec P= pu‘imc‘tel‘
2

P= 2x+2Y minimige P



Az'xa.s; @:—’;‘t@ F=29(+%L4—
d 2 2 2
—CTEL-:Z_ 7’:\2 =0 = 271 =2A = x’:,,Arza(:‘/"K
1® 4A : , " :
‘%‘f’i = T o fer ald FOSTE'VQ A = P=2x+ ‘2;'4“ L> Cencave L'70

Quergwhere  => x=JA 4« a minimwn of P

- i A _ - e o
x=JA = 4= = =hA = The )"CC%C’.!‘@L(@ e a szumz/e_

6.
@,‘ X = o@uavbk of co@,c A = suwiface aseq

dA

2
A= 6éx H?=—'lccm2/min , A=8cm,
oA dx
= 12X JjF = —{0o em?/min = |2 (5 < el %
at dt ( ) v En
— da — {0 C,mz/rni'n
= t - éO om =T —é— c/m/}‘nfll

]_Ce.mi)a.re with Homeweork axct Ou’.’& §38 : 42]
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